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[Question ID = 101][Question Description = Q01_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 401]
2. 2 [Option ID = 402]
3. 3 [Option ID = 403]
4. 4 [Option ID = 404]
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[Question ID = 102][Question Description = Q02_29-Arabic_Shift1_UGCNET_20NM0OV_S1]

1. 1 [Option ID = 405]
2. 2 [Option ID = 406]
3. 3 [Option ID = 407]
4, 4 [Option ID = 408]
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[Question ID = 103][Question Description = Q03_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 409]
2. 2 [Option ID = 410]
3. 3 [Option ID = 411]
4. 4 [Option ID = 412]
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[Question ID = 104][Question Description = Q04_29-Arabic_Shift1_UGCNET_20NOV_S51]
. 1 [Option ID = 413]
2 [Option ID = 414]
3 [Option ID = 415]
. 4 [Option ID = 416]
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[Question ID = 105][Question Description = Q05_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 417]
2. 2 [Option ID = 418]
3. 3 [Option ID = 419]
4, 4 [Option ID = 420]
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[Question ID = 106][Question Description = Q06_29-Arabic_Shift1_UGCNET_20NOV_S1]

1. 1 [Option ID = 421]
2. 2 [Option ID = 422]
3. 3 [Option ID = 423]
4. 4 [Option ID = 424]
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[Question ID = 107][Question Description = Q07_29-Arabic_Shift1_UGCNET_20NOV_S1]
. 1 [Option ID = 425]
2 [Option ID = 426]
3 [Option ID = 427]
. 4 [Option ID = 428]
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[Question ID = 108][Question Description = Q08_29-Arabic_Shift1_UGCNET_20NMOV_S1]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4, 4 [Option ID = 43%]
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[Question ID = 109][Question Description = Q09_29-Arabic_Shift1_UGCNET_20N0OV_S1]
. 1 [Option ID = 433]
2 [Option ID = 434]
3 [Option ID = 435]
4 [Option 1D = 436]
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[Question ID = 110][Question Description = Q10_29-Arabic_Shift1_UGCNET_20NM0OV_S1]
. 1 [Option ID = 437]
2 [Option ID = 438]
3 [Option ID = 439]
4 [Option 1D = 440]
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[Question ID = 111][Question Description = Q11_29-Arabic_Shift1_UGCNET_20NM0OV_S1]
. 1 [Option ID = 441]
2 [Option ID = 442]
3 [Option ID = 443]
4 [Option ID = 444]
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[Question ID = 112][Question Description = Q12_29-Arabic_Shift1_UGCNET_20NM0OV_S1]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]
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[Question ID = 113][Question Description = Q13_29-Arabic_Shift1_UGCNET_20NM0OV_S1]
1 [Option ID = 449]
2 [Option ID = 450]
3 [Option ID = 451]
4 [Option ID = 452]
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[Question ID = 114][Question Description = Q14_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
| 3. 3 [Option ID = 455]
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| 4. 4 [Option ID = 456]

15)

Haed i s B bl ot o (ols ol
Sl @ gl @

g

syer iy @ SomleNMall ol (39)

[Question ID = 115][Question Description = Q15_29-Arabic_Shift1_UGCNET_20NOV_S51]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]
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[Question ID = 116][Question Description = Q16_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 461]
2. 2 [Option ID = 462]
3. 3 [Option ID = 463]
4, 4 [Option ID = 464]
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[Question ID = 117][Question Description = Q17_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]
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[Question ID = 118][Question Description = Q18_29%-Arabic_Shift1_UGCNET_20NOV_5S1]
1. 1 [Option ID = 469]
2. 2 [Option ID = 470]
3. 3 [Option ID = 471]
4. 4 [Option ID = 472]
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[Question ID = 119][Question Description = Q19_29-Arabic_Shift1_UGCNET_20NM0OV_S1]
1. 1 [Option ID = 473]
2. 2 [Option ID = 474]
3. 3 [Option ID = 475]
4, 4 [Option ID = 476]
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[Question ID = 120][Question Description = Q20_29-Arabic_Shift1_UGCNET_20NM0OV_51]
1. 1 [Option ID = 477]
2. 2 [Option ID = 478]
3. 3 [Option ID = 479]
4. 4 [Option ID = 480]
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[Question ID = 121][Question Description = Q21_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 481]
2. 2 [Option ID = 482]
3. 3 [Option ID = 483]
4. 4 [Option ID = 484]

22) . . - . o €K .My .
S 8,64 yudl el am e o508, “Lnt 477 G5 glid sl
§ aolal dre
Sostdlsdbount, @ oSl
3o Jline @ dns v g (3)

[Question ID = 122][Question Description = Q22_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3. 3 [Option ID = 487]
4. 4 [Option ID = 488]
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[Question ID = 123][Question Description = Q23_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 489]
| 2. 2 [Option ID = 490]
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| 3. 3 [Option ID = 491]
4. 4 [Option ID = 492]
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[Question ID = 124][Question Description = Q24_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 493]
2. 2 [Option ID = 494]
3. 3 [Option ID = 495]
4. 4 [Option ID = 496]
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[Question ID = 125][Question Description = Q25_29-Arabic_Shift1_UGCNET_20NOV_51]
. 1 [Option ID = 497]
2 [Option ID = 498]
3 [Option ID = 499]
. 4 [Option ID = 500]
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[Question ID = 126][Question Description = Q26_29-Arabic_Shift1_UGCNET_20N0OV_S1]
. 1 [Option ID = 5(1]
2 [Option ID = 502]
3 [Option ID = 503]
4 [Option 1D = 504]
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[Question ID = 127][Question Description = Q27_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 505]
2. 2 [Option ID = 506]
3. 3 [Option ID = 507]
4. 4 [Option ID = 508]
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[Question ID = 128][Question Description = Q28_29-Arabic_5Shift1_UGCNET_20NOV_51]
.1 [Option ID = 50%]
. 2 [DOption ID = 510]
. 3 [Option ID = 511]
4 [Option ID = 512]
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[Question ID = 129][Question Description = Q29_29-Arabic_5Shift1_UGCNET_20NOV_51]
. 1 [Option ID = 513]
. 2 [Option ID = 514]
. 3 [Option ID = 515]
4 [Option ID = 516]
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[Question ID = 130][Question Description = Q30_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]
| 3. 3 [Option ID = 519]
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| 4. 4 [Option ID = 520]
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[Question ID = 131][Question Description = Q31_29-Arabic_Shift1_UGCNET_20NM0OV_S1]
1. 1 [Option ID = 521]
2. 2 [Option ID = 522]
3. 3 [Option ID = 523]
4. 4 [Option ID = 524]
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[Question ID = 132][Question Description = Q32_29-Arabic_Shift1_UGCNET_20NOV_51]
. 1 [Option ID = 525]
2 [Option ID = 526]
3 [Option ID = 527]
. 4 [Option ID = 528]
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[Question ID = 133][Question Description = Q33_29-Arabic_Shift1_UGCNET_20N0OV_S1]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4, 4 [Option ID = 532]
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[Question ID = 134][Question Description = Q34_29-Arabic_Shift1_UGCNET_20NOV_S1]
. 1 [Option ID = 533]
2 [Option ID = 534]
3 [Option ID = 535]
4 [Option ID = 536]
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[Question ID = 135][Question Description = Q35_29-Arabic_Shift1_UGCNET_20NOV_S1]
1, 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]
4. 4 [Option ID = 540]
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[Question ID = 136][Question Description = Q36_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 541]
2. 2 [Option ID = 542]
3. 3 [Option ID = 543]
4, 4 [Option ID = 544]
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. [Question ID = 137][Question Description = Q37_29-Arabic_Shift1_UGCNET_20NOV_51]
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. 1 [Option ID = 545]
2 [Option ID = 546]
3 [Option ID = 547]
. 4 [Option ID = 548]
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[Question ID = 138][Question Description = Q38_29-Arabic_Shift1_UGCNET_20NOV_51]
1 [Option ID = 549]
2 [Option ID = 550]
3 [Option ID = 551]
4 [Option ID = 552]
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[Question ID = 139][Question Description = Q39_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]
3. 3 [Option ID = 555]
4. 4 [Option ID = 556]
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[Question ID = 140][Question Description = Q40_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 557]
2. 2 [Option ID = 558]
3. 3 [Option ID = 559]
4. 4 [Option ID = 560]
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' [Question ID = 141][Question Description = Q41_29%-Arabic_Shift1_UGCNET_20NOV_5S1]
. 1 [Option ID = 561]
. 2 [Option ID = 562]
. 3 [Option ID = 563]
4 [Option ID = 564]
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[Question ID = 142][Question Description = Q42_29-Arabic_Shift1_UGCNET_20NOV_51]
. 1 [Option ID = 565]
2 [Option ID = 566]
3 [Option ID = 567]
4 [Option ID = 568]
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[Question ID = 143][Question Description = Q43_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 569]
2. 2 [Option ID = 570]
3. 3 [Option ID = 571]
4. 4 [Option ID = 572]
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[Question ID = 144][Question Description = Q44_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 573]
2. 2 [Option ID = 574]
3. 3 [Option ID = 575]
4. 4 [Option ID = 576]
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| [Question ID = 145][Question Description = Q45_29-Arabic_Shift1_UGCNET_20NOV_S1]
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. 1 [Option ID = 577]
. 2 [Option ID = 578]
. 3 [Option ID = 579]
4 [Option ID = 580]
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[Question ID = 146][Question Description = Q46_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 581]
2. 2 [Option ID = 582]
3. 3 [Option ID = 583]
4, 4 [Option ID = 584]
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[Question ID = 147][Question Description = Q47_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 585]
2. 2 [Option ID = 58]
3. 3 [Option ID = 587]
4. 4 [Option ID = 588]
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[Question ID = 148][Question Description = Q48_29%-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]
3. 3 [Option ID = 591]
4. 4 [Option ID = 592]
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[Question ID = 149][Question Description = Q49_29-Arabic_Shift1_UGCNET_20NOV_S1]
. 1 [Option ID = 593]
2 [Option ID = 594]
3 [Option ID = 595]
. 4 [Option ID = 596]
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[Question ID = 150][Question Description = Q50_29-Arabic_Shift1_UGCNET_20NOV_S51]
1. 1 [Option ID = 597]
2. 2 [Option ID = 598]
3. 3 [Option ID = 599]
4. 4 [Option ID = 600]
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[Question ID = 151][Question Description = Q51_29-Arabic_5Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 601]
2. 2 [Option ID = &02]
3. 3 [Option ID = &03]
4, 4 [Option ID = 604]
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[Question ID = 152][Question Description = Q52_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 605]
2. 2 [Option ID = 606]
3. 3 [Option ID = 607]
4. 4 [Option ID = 608]
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[Question ID = 153][Question Description = Q53_29-Arabic_Shift1_UGCNET_20NM0OV_S1]
1. 1 [Option ID = 609]
2. 2 [Option ID = 610]
3. 3 [Option ID = 611]
4, 4 [Option ID = 612]
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[Question ID = 154][Question Description = Q54_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 613]
2. 2 [Option ID = 614]
3. 3 [Option ID = 615]
4. 4 [Option ID = 616]
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[Question ID = 155][Question Description = Q55_2%-Arabic_Shift1_UGCNET_20NOV_5S1]
1. 1 [Option ID = 617]
2. 2 [Option ID = 618]
3. 3 [Option ID = 619]
4. 4 [Option ID = 620]
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[Question ID = 156][Question Description = Q56_29-Arabic_Shift1_UGCNET_20NOV_51]
. 1 [Option ID = 621]
2 [Option ID = 622]
3 [Option ID = 623]
4 [Option ID = 624]
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[Question ID = 157][Question Description = Q57_29-Arabic_Shift1_UGCNET_20NOV_51]
.1 [Option 1D = £25]
2 [Option ID = 626]
3 [Option ID = 627]
. 4 [Option ID = 628]
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[Question ID = 158][Question Description = Q58_29%-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 629]
2. 2 [Option ID = £30]
3. 3 [Option ID = 631]
4. 4 [Option ID = 632]
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[Question ID = 159][Question Description = Q59_29-Arabic_Shift1_UGCNET_20NOV_S1]
. 1 [Option ID = 633]
2 [Option ID = 634]
3 [Option ID = 635]
. 4 [Option ID = 636]

oW

60)

00y & sid! Blowd) 3 & susd! Suumadl! M;MT}U& é,.(..l...‘l P03 e o€
Ll O s B s

sl @ LWl @
WY dedunad @ NITY  ©

[Question ID = 160][Question Description = Q60_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 637]
2. 2 [Option ID = 638]
3. 3 [Option ID = 639]
4. 4 [Option ID = 640]
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[Question ID = 161][Question Description = Q61_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 641]
2. 2 [Option ID = 642]
3. 3 [Option ID = 643]
4. 4 [Option ID = 644]
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[Question ID = 162][Question Description = Q62_29-Arabic_Shift1_UGCNET_20NOV_51]
. 1 [Option ID = 645]
. 2 [DOption ID = 644]
. 3 [Option ID = £47]
4 [Option ID = 648]
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[Question ID = 163][Question Description = Q63_29-Arabic_Shift1_UGCNET_20NOV_S1]
. 1 [Option ID = 649]
2 [Option ID = 650]
3 [Option ID = 651]
. 4 [Option ID = 652]
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[Question ID = 164][Question Description = Qé64_29-Arabic_Shift1_UGCNET_20NM0OV_S1]
1. 1 [Option ID = 653]
2. 2 [Option ID = 654]
3. 3 [Option ID = 655]
4. 4 [Option ID = 656]

65 .
) Given below are two statements ;

Statement 1 :
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In the light of the above statements, choose the correct answer from the options

given below :

(1) Both Statement I and Statement II are true
(2) DBoth Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I s false but Statement II 1s true

[Question ID = 165][Question Description = Q65_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 657]
2. 2 [Option ID = 658]
3. 3 [Option ID = 659]
4. 4 [Option ID = 660]
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[Question ID = 166][Question Description = Q66_29-Arabic_Shift1_UGCNET_20NM0OV_S51]
1. 1 [Option ID = 661]
2. 2 [Option ID = 662]
3. 3 [Option ID = 663]
4, 4 [Option ID = 664]

57 - - & )
! 85 Yool B i) 2 g2
Loss on exchange (2) To assess loss (1)
To suffer loss (4) To make good a loss (3)

[Question ID = 167][Question Description = Q67_29%-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 665]
2. 2 [Option ID = 666]
3. 3 [Option ID = 667]
4. 4 [Option ID = 668]
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: "i}':&kedy[% S s\ "U@J)-:”G‘-r‘_:u'-‘

Investor (2) Manipulator (1)

Exchange director (4) Disinvestor (3)

[Question ID = 168][Question Description = Q68_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 669]
2. 2 [Option ID = 670]
3. 3 [Option ID = 671]
4. 4 [Option ID = 672]
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[Question ID = 169][Question Description = Q69_29-Arabic_Shift1_UGCNET_20NM0OV_S1]
1. 1 [Option ID = 673]
2. 2 [Option ID = 674]
3. 3 [Option ID = £75]
4, 4 [Option ID = 676]
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[Question ID = 170][Question Description = Q70_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 677]
2. 2 [Option ID = 678]
3. 3 [Option ID = 679]
4. 4 [Option ID = 680]
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[Question ID = 171][Question Description = Q71_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 681]
2. 2 [Option ID = 682]
3. 3 [Option ID = 683]
4. 4 [Option ID = 684]
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[Question ID = 172][Question Description = Q72_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 685]
2. 2 [Option ID = 686]
3. 3 [Option ID = 687]
4. 4 [Option ID = 688]

73)

Given below are two statements :

Statement I :
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Statement IT :
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In the hght of the above statements, choose the most appropriate answer from the
options given below :

o))
@
3
@

Both Statement I and Statement 11 are correct
Both Statement I and Statement IT are incorrect
Statement I is correct but Statement II is incorrect

Statement I is incorrect but Statement II is correct

[Question ID = 173][Question Description = Q73_29-Arabic_Shift1_UGCNET_20NOV_51]

e ld B

74)

(A4)

(B)

(©)

(D)

. 1 [Option ID = 689]
2 [Option ID = 690]
. 3 [Option ID = £91]
4 [Option ID = 692]

Match Tast T wath List IT
Last I List IT
L‘.‘J[:-_,é L/”L::Jl @ ;_‘,[A}”
Qs oha Uat @ Sl
SRRWY am sl )
sole sl L) TN

Choose the correct answer from the options given below :

1)
(2)
(3
@

(A)-aD, (B)-AV), (C)-(I11), (D)D)
(A)-Av), (B)-aD, (O)-A1D. (D)-@
(A)-(IID), B)-D), (C)-AV), D)-(ID)
(A)-aD. (B)-AV), (O)-(D), O)-(II)

[Question ID = 174][Question Description = Q74_29-Arabic_Shift1_UGCNET_20NOV_S1]

oWk b o

75)

. 1 [Option ID = 693]
2 [Option ID = 694]
. 3 [Option ID = £95]
4 [Option ID = 696]

Given below are two statements :

Statement I :

Mol § 8508 ol dhs g B gua] G ol e 8 Ol e W

Statement IT :
F - Ll £ - * - f
RIVPECTS DS 29y PR CROM JICIC) EIVI S FRN-I5 LR P
In the light of the above statements, choose the correct answer from the options

given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false

(3) Statement I is true but Statement II is false
{4y Statement T 1z falae hiit Statement TT 1 tmie
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[Question ID = 175][Question Description = Q75_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 697]
2. 2 [Option ID = 698]
3. 3 [Option ID = 699]
4. 4 [Option ID = 700]

76) :
(Given below are two statements :

Statement I :

Laaids ) 6, Ludusl els w8 waugserl @)
Statement I1 :
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In the hight of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

[Question ID = 176][Question Description = Q76_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 701]
2. 2 [Option ID = 702]
3. 3 [Option ID = 703]
4. 4 [Option ID = 704]

77)

S YIS 0 gaiz s sabnl 5 SEA 0E § o) B Y b Lty

ol SLIY s 6 3aY s Al s I s G ss e 5 5land) b0l
slouly Ol B el s Ll oy ool Al e s 0l ®
(b e e sl 2 il slimdl 53 ©
CICF-LIN) IVETS - CRWPIR] - PVABNIE IETSPE I

Choose the correct answer from the options given below :

D A).6). D)

@ A.G

3 @W.3. 0

@  A).B. ), D

[Question ID = 177][Question Description = Q77_29%9-Arabic_Shift1_UGCNET_20NOV_S1]
1, 1 [Option ID = 705]
2. 2 [Option ID = 706]
3. 3 [Option ID = 707]
4. 4 [Option ID = 708]

78 ;
) Given below are two statements :
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Statement 1 :

YOI PENTHENE. NI CHN PR PRI RIS TR Y]

Statement IT :

Uehady G dula Vs i sb nKasded s Vs

In the light of the above statements, choose the most appropriate answer from the
options given below :

(D
@
3
@

Both Statement I and Statement Il are correct
Both Statement I and Statement II are incorrect
Statement I is correct but Statement Il is incorrect

Statement I is incorrect but Statement II 1s correct

[Question ID = 178][Question Description = Q78_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 709]
2. 2 [Option ID = 710]
3. 3 [Option ID = 711]
4. 4 [Option ID = 712]

79)

Given below are two statements :

Statement I :

'gjﬂ'jwb”5&%%@30951@:9‘@{33331,&@,@

Statement II :

BV 013591 3 Busd ) i 3451 sl 005G

In the hight of the above statements, choose the correct answer from the options
given below :

(1
2)
(3)
)]

Both Statement I and Statement II are true
Both Statement I and Statement IT are false
Statement I is true but Statement II is false
Statement I is false but Statement II is true

[Question ID = 179][Question Description = Q79_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 713]
2. 2 [Option ID = 714]
3. 3 [Option ID = 715]
4. 4 [Option ID = 716]

80)
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Choose the correct answer from the options given below :

(1)
@)
(3
4)

A)-IV). B)-(D). (O)-AD. (D)-IIL)
(A)-A1ID, (B)-AV), (C)-(D), (D)-(1D)
(A)-(D), (B)-(D), (O)-@V), (D)-(1ID)
A)-av). (B)-a1). (O-ADh, (M)-@

[Question ID = 180][Question Description = Q80_29-Arabic_Shift1_UGCNET_20NMOV_S1]

R

81)

. 1 [Option ID = 717]
2 [Option ID = 718]
3 [Option ID = 719]
4 [Option ID = 720]

Given below are two statements :

Statement I :

I3y el i G okon Futeg Yaallll g sL5Y!

Statement II ;

Sl sde 3B slaiy das Y

In the hight of the above statements, choose the most appropriate answer from the
options given below :

0y
@
(3)
4

Both Statement I and Statement Il are correct
Both Statement I and Statement II are incorrect
Statement I is correct but Statement 1T is incorrect

Statement I is incorrect but Statement IT is correct

[Question ID = 181][Question Description = Q81_29-Arabic_Shift1_UGCNET_20NM0OV_S1]

bl B

82)

@A)

B

(C)

D)

1 [Option ID = 721]
2 [Option ID = 722]
3 [Option ID = 723]
4 [Option ID = 724]

Match List T with List II
List I List IT
Joldecla @ 330 s s o)
G S Y V] ) ) ko dgds
o sl du juee @MD < ghano Jliee
Al ay] ! V) Ay 35 o]

Choose the correct answer from the options given below :

(1
@
(3
€Y

(A)-(IID), (B)-@), (C)-(ID), (D)-(IV)
(Ay-(ID). (B)-(I1D). (C)-(D), (D)-AV)
A)-(IV), (B)-aD), (O)-A1). D)-M
A)-D. B)-IV). (C)-dD), (D)~

[Question ID = 182][Question Description = Q82_29-Arabic_Shift1_UGCNET_20NM0OV_51]
1. 1 [Option ID = 725]
| 2. 2 [Option ID = 726]
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| 3. 3 [Option ID = 727]
4. 4 [Option ID = 728]

83)
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Choose the correct answer from the options given below :

O Q. O
@  ®).0©
&  ©.D
@ 4. ®

[Question ID = 183][Question Description = Q83_29-Arabic_Shift1_UGCNET_20NM0OV_S1]
. 1 [Option ID = 729]
2 [Option ID = 730]
. 3 [Option ID = 731]
4 [Option ID = 732]

e it BRI

84)

:,m[@«-y%@J?;MEU;13J;M|¢5)99UW¥%§,U1

ol @

dnl ®
dnidlldl b (©

AoV it @

Choose the correct answer from the options given below :

1 (A Q). B) D)
@ O.B.0.&
(3 (€, A). B, D)
4 B, @A) D), ©)

[Question ID = 184][Question Description = Q84_29-Arabic_5Shift1_UGCNET_20NOV_51]
. 1 [Option ID = 733]
. 2 [Option ID = 734]
. 3 [Option ID = 735]
4 [Option ID = 736]
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Choose the correct answer from the options given below :

(1)
(2)
3
@

(A). (C). (D), (B)
(B). (C). (A). (D)
D). B). (O), (4)
©). (4. B), D)

[Question ID = 185][Question Description = Q85_2%-Arabic_Shift1_UGCNET_20NOV_S1]
. 1 [Option ID = 737]
. 2 [Option ID = 738]
. 3 [Option ID = 739]
. 4 [Option ID = 740]

1

2

3

4

86)
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(C)
D)
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Match List I with List IT
List TT
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Choose the correct answer from the options given below :

(1)
(2)
(3
C)

(A)-@). (B)-(1L), (C)-(AD), (D)-(IV)
(A)-@V). (B)-(1ID). (O)-(D, (D)-(I)
(A)-1D), (B)-@V), (O)-AD). (D)D)
(A)-(ID. (B)-(D), (C)-(IID), (D)-(IV)

[Question ID = 186][Question Description = Q86_29-Arabic_Shift1_UGCNET_20NOV_51]

oW 2 =

87)

. 1 [Option ID = 741]
2 [Option ID = 742]
3 [Option ID = 743]
. 4 [Option ID = 744]

IS UOY TN K UL LIS FTRN o U8 | U W P [ PO
Gl sadlos @
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Wb v B wly  (©
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Choose the correct answer from the options given below :

@
)
(3)

AN

(A, (O). (B), (D)
B). (C). A). (D)
D). (B), (C). (A)

Ft S AN T T
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[Question ID = 187][Question Description = Q87_29-Arabic_Shift1_UGCNET_20NOV_S1]
. 1 [Option ID = 745]
2 [Option ID = 746]
3 [Option ID = 747]
. 4 [Option ID = 748]

oW =

88) .
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Choose the correct answer from the options given below :

1 (A (©)
@ B
3  AD

4 (©),D

[Question ID = 188][Question Description = Q88_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]
3. 3 [Option ID = 751]
4. 4 [Option ID = 752]

£9)
Given below are two statements :

Statement I :

.EW&‘G}EL&J‘@E

Statement IT :
w@ =

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) DBoth Statement I and Statement IT are correct
(2) Both Statement I and Statement IT are incorrect
(3) Statement I 1s correct but Statement II is incorrect

(4) Statement I 1s incorrect but Statement II 1s correct

[Question ID = 189][Question Description = Q89_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 753]
2. 2 [Option ID = 754]
3. 3 [Option ID = 755]
4. 4 [Option ID = 756]

90) Mateh List I with List II
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List I List I1
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Choose the correct answer from the options given below :

D @A), B)-dD). (C)-1V). D)-D)
2y (A)-an, B)-d), (©)-@), (D)-0V)
@ WO B-ID, (O-aV), -1

4y  (A)-AV), B)-O), (O)-1D), (D)-(I1I)

[Question ID = 190][Question Description = Q90_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 757]
2. 2 [Option ID = 758]
3. 3 [Option ID = 759]
4. 4 [Option ID = 760]

Topic:- 29Arabic_B
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[Question ID = 191][Question Description = Q91_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 761]
2. 2 [Option ID = 762]
3. 3 [Option ID = 763]
4. 4 [Option ID = 764]

2)
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FPSEA L JUTIVSIT PEVOR- SO AT SR CPPI CYF-CHPON] X X FES0  POURUIN
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laluio Y80 o wobis s a3 T o Fuay Lk Gl U ol ey
oaiad! o5ladl o 3ad) 10a, cdie O palS o d) (P a8 ST Y (U1 dabladt A,
!@lhsﬂz’.wiﬁl“s,:[@.vddﬁ

0 Y el e Uall ada G uals bl 151 & jualu 8 Lpial 45,
G ahis (05 503 @8 4508 G ol @36 s st ,5 o legawas o) Y5 L
LB, ade e b 03y Lo o Bp Aol ;ﬁmﬁiwgrwtﬁbdlﬁ# _:-jf.:}g}

30,

il pall” OB Lall b adl sy sl els o
Aaidl s @)

iV Ul Gadpaeciy @

Lh Wl Gadaes  ©

i) Mol e 3, @ladds @

[Question ID = 192][Question Description = Q92_29-Arabic_5Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 765]
| 2. 2 [Option ID = 766]
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| 3. 3 [Option ID = 767]
4. 4 [Option ID = 768]

%) :5[5:1EJ;M|ﬂletww!¥|ﬂ‘ﬁlﬂaﬁjw‘Mﬁﬁi
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[Question ID = 193][Question Description = Q93_2%-Arabic_Shift1_UGCNET_20NOV_5S1]
1. 1 [Option ID = 769]
2. 2 [Option ID = 770]
3. 3 [Option ID = 771]
4, 4 [Option ID = 772]

4)
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[Question ID = 194][Question Description = Q94_29-Arabic_Shift1_UGCNET_20NOV_S1]
1. 1 [Option ID = 773]
2. 2 [Option ID = 774]
3. 3 [Option ID = 775]
4. 4 [Option ID = 776]
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[Question ID = 195][Question Description = Q95_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 777]
2. 2 [Option ID = 778]
3. 3 [Option ID = 779]
4. 4 [Option ID = 780]
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Topic:- 29Arabic_C
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[Question ID = 196][Question Description = Q96_29-Arabic_Shift1_UGCNET_20NM0OV_S1]
1. 1 [Option ID = 781]
2. 2 [Option ID = 782]
3. 3 [Option ID = 783]
4. 4 [Option ID = 784]
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[Question ID = 197][Question Description = Q97_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 785]
2. 2 [Option ID = 786]
3. 3 [Option ID = 787]
4. 4 [Option ID = 788]
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[Question ID = 198][Question Description = Q98_29-Arabic_Shift1_UGCNET_20N0OV_S1]
1. 1 [Option ID = 789]
2. 2 [Option ID = 790]
3. 3 [Option ID = 791]
4. 4 [Option ID = 792]
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[Question ID = 199][Question Description = Q99_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 793]
2. 2 [Option ID = 794]
3. 3 [Option ID = 795]
4. 4 [Option ID = 796]

3)

U318, o5 e, Lt oo Tamaad ) W s 518 5 i W) et ],3)

A3l Lde 7050 e 8550 (48 dpmand a1 65001 8 ole e U3

SR UL SR R (U PIVTIN I ESCTCRNVEE T8 SPUN T NOVIEIP JOS- JPSgec

OVO TS YRR L RN It TIR P U N N TYRYOURE U1 P81 EYS pe 1)

(552 vy Fernsd 201 Al el (500 0N 30 o ghmne 38 LS e oy WSy
Bard) BT e s Bowd oo SVl 3 s sid) Suies] S 1798 Bt aa)
S e o6, Ll b 3 ateldb eud ity o pae ey Sl AL LA

s 02,1 (333765 U8y @l amdy el y & 0l L (8 (i, il s 50

o i3> Lo B3le 13 g7 o sdeinll GO Mo s (0 amnd R U 6

03 50 B3l Lnd i) Aaad! o o) J0 &y o]y Fym) e i)

NVRLYEPCNUPSISUSIICTUROS PRTOURIE | JENC-. 70 Tt SRR 19y SRRy (e
nd 188 atn) Sae T 2 o oy ol 3) sl 1596 3 i 5315
© s 2 328 G Lo 0 Aladd W) 5V 9 e ey QLS B U3,
A B o) 5V oy SN 33 1z () oy 38 vy saed 31 {8 aguiiS o
40, A (62 R () ot ot oo 835 Ll 12 Y, e oy

3 301 el 3 ot il Ao L 36 (301 Dl jud) s ool Wlansy g bimend o L0y

FUY-IE POTINES PIPS W LI g N
Lo dladpnWlen

Gy My & SANAB A0 @
s oy ()

-

dud] wae (9

prepp

al Exams Guide



www.prepp.in . repp

Your Personal Exams Guide

[Question ID = 200][Question Description = Q100_29-Arabic_Shift1_UGCNET_20NOV_51]
1. 1 [Option ID = 797]
2. 2 [Option ID = 798]
3. 3 [Option ID = 799]
4, 4 [Option ID = 800]

Topic:- General Paper_Set1_A

1) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together i1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrabution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% Ju
Sales (SA) 12% Han
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 543
Others (OT) 6% 3:68

Frefafaa feem W fiem Hif formd o & gn 4 9 oem % fafim omi 4w & Fesa = wfoea
(%) T o YEu-AfEen Hesw o mia A 2| 'l i % P wEee S sem 80 @ 2
At # foT U AT6SH % SMYR W T¥7 o SR A

Td % BASA H1 & foawor
IR 57 & R o1 Frere
stcd (%) T | gea-wifgen agu@ (37 )
Tar (T 3) 15% 3:2
ew (Tg 1) 12% 5:3
Fmtor =it argea (i w) 9% 5:4
TR (W 2TR) 18% 557
YA (T U) 21% 3:4
Ieurea s ufims (4 ) 19% 5:3
A (3 &) 6% 8B

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2} 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

qeft &=t i e g5 Srew i oftua gea 991 27 (S9med % 31 9T a)

(1)  6.39 @@ (2) 4.69 @@

(3)  5.96 TG @) 7.48 9@

[Question ID = 2007][Question Description = Q01_GP_20M0V_S1_SHAAN]
1. 1 [Option ID = 8025]
2. 2 [Option ID = 8026]
3. 3 [Option ID = 8027]
4. 4 [Option ID = 8028]

2) Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforce of India in different employment sectors during a given

wraaw Tntal wravlfarce 11 all tha cantave nnt tnoathaw 1e 2 lal-he Pacad an tha dafa fcantainad
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in the table, answer the question :

Sector-wise Distrabution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% s e
Sales (SA) 12% 5:3
Construction and Maintenance (M) 0% g
Professional (PR) 18% Ha'l
Management (MA) 21% 3:4
Production and Transport (PT) 19% 51d
Others (OT) 6% 325

Frefafan ofte W fiem Hifte fomd o & 3n 99 9 toem % fafiw &mi 4 wwa & Fesa = wfoea
(%) o Qo geu-ufEen wEew oUW g T 2wt @Al % Fa FEew H e 80 9| 2|
Tt ° T8 770 STST F STHR W T¥T o Ia i)

A = S 1 EGR T
TSR 67 & I =T e
wfcr (%) o | ged-Afee sgeE (30T )
Tar (T 3) 15% 3:2
ow (Tg ) 12% 5:3
Fmtor 31t e (i o) 9% 5:4
e (0 2IR) 18% 54
YA (T U) 21% 3:4
Iearea 3R ufass (di ) 19% 68
3= (a1t &) 6% 3:5

The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM

sector?
(1) 330% (2) 318%
(3) 320% (4) 80%

g $ ot df oR & # W nfien wRee $ g9 gen @ ™ &7 ¥ wekd [ weed 9 ae wil
faram wfaea 27

318%
80%

(1)  330% @)
(3 320% (4)

[Question ID = 2008][Question Description = Q02_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8029

2 [Option ID = 8030]
. 3 [Option ID = 8031)

4 [Option ID = 8032]

PR e

3) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Semnice (SE) 1h% 2:9
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Sales (SA) 12% 5:8
Construction and Maintenance (M) 0% 5:4
Professional (PR) 18% BT
Management (IMA) 21% 3:4
Production and Transport (PT) 19% H5:3
Others (OT) 6% 3:6

frefafiga aforer w faem fifsg fomd v o ge ot | toem o fafim gat 3 wra = selee =0 i
(%) Tooo aw Te-uigen e A et T gl ol &l % Pel hrEEe S Gen 80 @ng 2|
arfers o fau T 3rRsl % YR O WgA % 39 S

TSI, oh1 &5 A ol e
wfcrra (%) fereror | gey-wifgen sgma (g7 )
war (vE %) 15% 3:2
Tow (T 1) 12% 5:3
fmtor i amaor (+f ) 9% 5:4
e (f TR) 18% 517
oA (T U) 21% 34
IeaTea 3R ufisa (d &) 19% 5:3
3= (3 &) 6% 8:5

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of
workforce in PT sector?

(1) 82% (2) 87%

(3) 89% (4) 85%

TH T 3R UH U G § HEG Y Hed i Fa we 9 & 47 § wEW Seea i B G0 H e
fopamm witwa 27

(1) 82% 2 87%
(3) 29% 4) 85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8033]
2. 2 [Option ID = 8034]
3. 3 [Option ID = 8035]
4. 4 [Opticn ID = 8036]

4) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrabution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (SE) 15% S ot
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 513
Others (OT) 6% 3:68
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Frefafan fce W fiem Hif formd o & 3n 9 9 o % fafiw & 9 wwa & Felsa = wfoea
(%) o Qo gE9-ufEen FEee oUW g A 2wt @l % Fa wEew 1 e 80 9| 2
AfeTT A 138 7T STST 3 STTHR W 9T o Ia i)

A = S 1 &GN T
TUFIR 57 & I o Frer
stca (%) fome | gea-wifgen agu@ (F: A )
Tar (7™ 3) 15% 3:2
Hey (vE ) 12% 5:3
Fmtor 31t e (i ) 9% 5:4
TR (1 2TR) 18% B
YA (T U) 21% 3:4
Iearea 3R ufass (4 ) 19% 8
A (3 &) 6% 3:5
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The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce

in PT sector is :
(1) 5.1 lakhs (2) 7.5 lakhs
(3) 5.7 lakhs (4) 13.2 lakhs

TH U 3T U U & § FE Aleen FrEEd ®i For aea o § & 47 ° Fera qften srww ) qem w

3R Fram 27
(1) 5.1 %M@

(3) 5.7 &g

(2y 7.5 g

(4

13.2 91

[Question ID = 2010][Question Description = Q04_GP_20NOV_51_SHAAN]

1. 1 [Option ID = 8037]
2. 2 [Option ID = 8038]
3. 3 [Option ID = 8039]
4. 4 [Option ID = 8040]

53) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrabution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (SE) 15% S ot
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 513
Others (OT) 6% 3:68

Frefafa ofee W fiem Hift formd o 7@ gn 99 9 oem # fafiw omi 4 wwa & Fesa = wfoma
(%) T @ YEu-AfEen Hesw o w2 'l s % Fe Eee S sew 80 @ 2|
Tt ° T8 7T STEST F STHR W 9T o o i)

G % ST T EaT T

TSR T &5

YR T FrHaA
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ST (%) TN | TR S (T )
BT (T4 §) 15% 3:2
TeE (TE 1) 12% 5:3
Fmtor =it areamr (di w) 9% 5:4
TR (1 2TR) 18% B
YA (T U) 21% 3:4
Iearea 3R ufasa (4 ) 19% RS
A4 (a7 &) 6% 3:5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1) 17 : 39 (2) 16 : 37

(3)16: 35 (4)16: 39

ot w & # S wfEen FEEd H FE SR d o vd o1 A 46 ° SR 769 wEs i fel Wedl 6
ST 0 2 7

(1) 17: 39 (2) 16:37
(3) 16: 35 (4) 16:39

[Question ID = 2011][Question Description = Q05_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8041]
2 [Option ID = 8042)
. 3 [Option ID = 8043]
. 4 [Option ID = 8044]

o =

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

ATE # FFm T § g IR S 3T g 1 TeA FE TR 6% SHatead gl T Bl 2 7
1 T w @) erEEY ®H

(3) HHTX (4) @ foFm

[Question ID = 2012][Question Description = Q06_GP_20NOV_51_SHAAN]
e

[Option ID = 8045]
hoeik

[Option ID = 8046]
o

[Option ID = 8047]
4, 4

[Option ID = 8048)

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A) Self efficacy

(B) Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :

(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

Trafafega 3 gfenfg sramm eamaett 6it gt 2 G sroamm gad fafie wral & meam @ faf=a e
T 2| S I S SreeR e 6 anard §) 3 O i A @eae SHagR SR et 21l 27
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(A)  @ArcA-&ual (amed)

(B) A

(C) Frayw $ ooy

D) T

(E)  F8AEan

= feu o oot O ¥ TEt I = =Ea i
(1) @R EB

2 B
(3) (D) R E)
@ (B D)

[Question ID = 2013][Question Description = Q07_GP_20M0V_S51_SHAAN]
1. 1

[Option ID = 304%]
2. 2

[Option ID = 8050]
3.3

[Option ID = 8051]
4. 4

[Option ID = 8052]

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.

List 1 Listll

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (I} Using Swayam and Moocs

(B) Open and distance learning method (I} Programmed instructional packages
(C) Individualized method of teaching (lll} Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(1), (B)~(I1), (C)~(Il1), (D)-(IV)

(2) (A)-(lll}, (B)-(IV), (C)-(1), (D)-(1I)

(3) (A)-(1V), (B)-(N1), (C)-(N), (D)-(1)

(4) (A)}-(11), (B)-(), (C)-(IV}), (D)-(I11)

A1 % e geAt-11 = fiens $ife) ga-1 9 3= sifam weeneti | foram £t fafg= & 3 8, o= g=h-
I1 & stferm faftmt 6 el sem Fi oo & 08 £

eI T
fraror <t fafermn Tasiied SeH $i awAi®
(A) FAR-TET Y sTafharcs B () Ta9q N 9% & TG
(B) Iw it giadi s fafy (IT) sifassfia sETCRF T
(C) fogor F Fafrs (I1I) =isger sIgeeea af
(D) oy Fi stfensy fafy av) ufig=n % siy-=y fmvs e

= fou e fomreut 4 © w2 3T w1 9Ed il

1 (@D, B)-AD. (C)-AID. (D)-AV)
2  (@-dID. B)-AV). (C)-D). (D)-aD)
3 (@-IV), B)-dID. (C)-dD. D)-(D
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[Question ID = 2014][Question Description = Q08_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements

Statement (1) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement () : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (I} and Statement (ll) are correct

(2) Both Statement (I) and 5tatement (1) are incorrect

(3) Statement (1) is correct but Statement (ll) is incorrect

(4) Statement (1) is incorrect but Statement (ll) is correct

97 (D) : Syeifes oft srfhema oheor = gdenfia & 70 oft saf amar & oad dimr =

HTHTT H ™ ZET AAR AT S 2

F97 (11) : TEGFE Afeea g0 3R 54 =Afrac wam s & fGfe smEr a oW
a FE F JEEE ¥ FR B s E)

IR Y F AT H, i Zu e fawedt 0 O qeg 3uge ST R 9ISt

1) w5 (@) R 1) 3 w2
2) =W @) IR I TF T
(3) =y (D) EH 2, ©fF wm (1D o 2

(4) = (D) Tem 2, 9 w9 JD) 98 2

[Question ID = 2015][Question Description = Q09_GP_20NOV_S1_SHAAN]
1, 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]

%) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A}

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Hia g o= g g ¥ : ©F iU (Assertion A) % &9 7 fafga 3 @ z@u 3w F (Reason R)
HET Y .

AFFFHIT (A) : foreqor o smgfiep o7t ams = & s mEE@ et W iR e st i
i 3EAR ST 2

w1 (R) ; et e freror weraa woneft = siftem oftTufeat § gar ¥ @ ggw fem amn
=1y

3T HF * o7 8, 79 fBe 7o fwenl § @ ud) s W 9 Fifse

(1) (A R (R) 2F1 g7 3 &R (R), (A) A w&t = )



[Question ID = 2016][Question Description = Q10_GP_20N0V_S51_SHAAN]

1
2
3.
4
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@2 (A IR @) A wF &, F R), (A) F 7 = = 2
@) (A ua R, A ®) e )
@) (A) 3w\ 2, A (R) 7 2)

. 1 [Option ID = 8061]
. 2 [Option ID = 8062]
3 [Option ID = 8063]
. 4 [Option ID = 8064]

6) Which type of research encourages participant’s perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

[Question ID = 2017][Question Description = Q11_GP_20NOV_S1_SHAAN]

o =

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of

fora e % Ty W wigarfi-ufdes = Demniss e S e ?

(1)  erd e (2) fetae Wiy
(3)  SAEHTE WY (4) TETIETE WY

. 1 [Optien ID = 8065]

2 [Option ID = 8066]
. 3 [Option ID = 8067
. 4 [Option ID = 8068]

research?

(A) Descriptive method
(B) Experimental method
(C) Ex Post Facto method
(D) Historical method

(E) Exegetical method
Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (C) and (D)

(4) (D) and (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_51_SHAAN]
1.
2.
3.
4,

uitsreu afem St afmfe o @ ofigfe = oufe % =v 4 2l 3, o 6 F=fefea § 8 &

] T LR &7

(A)  TEEroners i

(By =i fafy
(C) = fafy
(D) et @&y

(E)  ==masmeqs ot

F=1 fou o fawedt § ¥ Ot 3w w1 99 i

1 @ R®B)
@ (B RO©
@  (© D)
4 (D) 3R (E)
N slpemoras

3 [Option ID = 8071]
4 [Option ID = 8072]
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8) Match List | with List Il. List | gives steps of research while List |l provides techniques used.
List 1  List Il Steps of research  Techniques used

(A) Problem formulation (1) Tabular and graphical representation of data

(B) Hypothesis making (lI) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (V) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(111}, (B)-(IV), (C)-(N), (D)}-(I)

(2) (A)-(I), (B)-(II}, (C)-(lI), (D)-(IV)

(3) (A)-(I1), (B)-(I), (C)-(1), (D)-(IV)

(4) (A)-(111}, (B)-(I), (C)-(I1), (D)-(IV)

Tt % w gei-11 1 e fifse) g=h-1 8 my % = 1w 3, 99 geft-11 % 37 g 9w a1

GCin! geft-I1

Y o = TERT | 18 ST TS
(A) T i (I) ARSI o1 WrfUEs 3iT AThE gt
(B) ftrewr fofo D) U FeTX YT W Tl A A
(C) wid==m wfse =1 =m (III) <= 5 &3 ¥ 4T 9v 33
(D) g fayedwor (AV) e = = % sl dee i e
= fou o fomedl § ® W SR F1 w5 B

(1)  @-dAIh. B)-aV), (O)-ab. (D)-(D
2 (A-D. B-AD, (C)-AID, (D)-AV)
(3)  (A)-dD, B)-(), (C)-D), (D)-AV)
(¢  (A-dID. B)-@). (O)-AD. (D)-AV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076)

9) Given below are two statements

Statement (l) : There is no difference between format and styles of writing and referencing in a thesis and a research
article,

Statement (ll) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement (ll) are true

(2) Both Statement (I} and Statement (ll) are false

(3) Statement (1} is true but Statement (I} is false

(4) Statement (1) is false but Statement (I} is true

Hi= g e fem o E

%97 (I) T TU-TEY ST WE-TF § @A T SHT  Fawd AR el % T B HAar T
B 2l

=97 (II) : Ty wedt A ok s sgaen ot il & o sthEm 21

ST HA H a7l 4, T B o el 4 ° aft s w9 i

(1) =y (D) sk D g w3

2) = O Rk D 3 o |

£y =9 Ty T77 2 feRT =ora (TT oot 21

prepp

Your Personal Exams Guide



www.prepp.in

= . B T L Y B

@) A (D) ST B, dfes wmeE (1) 99 2

[Question ID = 2020][Question Description = Q14_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8077

2. 2 [Option ID = 8078]

3. 3 [Option ID = 8079]

4. 4 [Optien ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R} : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

F= @t = fiw e € wm sifywes (ﬂssertionA)%mﬁmﬁ%ﬁaﬁmwmeamnm
ey H

#AfRa (A) ; et =u sfrer (Hy) =1 Fasrofia afesea (Ho) Rt wgmar @ vhiaor e s
ey

FR (R) : i aferew T (Hy) = aehanfa =i s1figfe did w0 3 =8 6t s o=t 21
ST Y o+ I °, F U U feredt 0 U qeg IUIT™ SR A 94 ST ¢

1) (A IR (R) IAT G T 2R (R). Q) F W@ =Em 2|

(2) (&) SR R) I TG 3, AR (R), (A) Fi @ @ w6
(3) (AT R, A ®) T T 2

@) (A =E T 2, A (R) wel 2

[Question ID = 2021][Question Description = Q15_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Option ID = 8082)
3, 3 [Option ID = 8083)
4, 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

T TE afwe goiw o udE e fem Freafafaa 4 @ e 5ty = w20

(1) 30 S (2) 30
(3) 15 3AEN (4) 15 7=

[Question ID = 2022][Question Description = Q16_GP_20N0V_S1_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

fopm MRS 1 TH-To=E (M) "Let truth prevail” 87

Q  f e (2) T S 3
@ fafem @ 3Ry

[Question ID = 2023][Question Description = Q17_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8089]
2. 2 [Option ID = 8090]
| 3. 3 [Option ID = 8091]
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| 4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both {A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) {(A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= g v fag g E ;U Ay (Assertionﬂ)%Wﬁﬁl’f@ﬁ%ﬁ@ﬂ?ﬂ%m(%&sanﬁ)
FEIH

a1fieE (A) sAftrs waw (Siewre) suaa wAie gafweie i disiE g 2, weg =3 Higm
£ TE T SOF U9 U2 6 2

w0 (R) FER JARY (STswne) Hitean o asei B i # TR W 2
ST YT F e °, F f2u e faseut O 9 qeg IR SR W 9EA SN

1) (A i R) I g 2 =1 (R). (A F wd =en B

@) (AR ®) I T 3, AR R), A) F @ smmem Tl 2
(3) (N TR R, @l (R) w78 2

(@) (A= TE 2, S R) wE R

[Question ID = 2024][Question Description = Q18_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8093]
. 2 [Dption ID = 8094)]
. 3 [Option ID = 8095]
4 [Option 1D = 8096]

oWk b2 o

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

FEER % SUT ¥F Bg MUl Uil Aeehies FRE TR ¥ TF R e 9 i dfa guv

(A) wumE fagm fafimt $i emar H @ B0 % U
(B) = Tt safim siwe % Wy v 21 %
(C)  smfER =i fan qomed A TR "9H & fow)

(D) == 4w A % foe B @i = weg mne difE g )

H for o forredi d W weW SUET 3T 0 9ET iR

(1) e (A) 3R (B)
(2) = (B) 3 (C)
(3) %= (C) 3 (D)
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[Question ID = 2025][Question Description = Q19_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098)
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (€), (D) and (E) only

(4) (A), (C) and (D) only

i &t 78 g 2 @ e Y wEEmie et A e i

@& e
(B)
© T
D) owfa

(E) &I = A g

1 fou o el § @ UF W %1 99 S

(1) == (A), (B) i (O)
2  Faa®). (©) (D)
(3 = (C). (D) 3R ()
4 Fa (A), (O) R (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Optien ID = 8102]
3. 3 [Optien ID = 8103]
4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family

(1) Rs. 3,000/- (2) Rs. 4,000/-

(3) Rs. 5,000/- (4) Rs. 6,000/-

T T4 % S T TRAR 1 I10a 10 599 Y99 3 T ¥ 4000 T03, 3GF 37T 4 Toi § 4500 T3
R Ifim s WEAT 9 5000 T 97| AfF 3@ T % INE A g9q 5000 T oft 47 3@ gfEr A eiga
e wtrE R i ?

1)  5000/- T (2) 4000/- ¥

(3  5000/- T (4 6000/- T0@

[Question ID = 2027][Question Description = Q21_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]
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17) Find the average of all prime numbers between 70 to 90
(1) 76,5  (2) 98.25
(3) 55.75 (4) 56.75

70 § 90 = o9 = gyt T el o SAd SaE -

(1) 76.5 (2) 98.25
(3)  55.75 (4) 56.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8109]
2. 2 [Optien ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres, Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

T ARG 33 WX g9 S99 W L1 ofex 39 % oA grm F s @ aIfia wRar 21 afoma § @
=AY

1 25% 2 50%
3  T70% (4) 80%

[Question ID = 2029][Question Description = Q23_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3) 5% (4) 7.2%

7ty et axg #1 ama 9o9 38 9 gem W 95% ® @ @y = afawam #9037

1) 4.26% 2 5.26%
3 5% @ 7.9%

[Question ID = 2030][Question Description = Q24_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Optien ID = 8119]
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs, 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?

(1) Rs, 1,600/- (2) Rs, 2,000/-

(3) Rs. 2,080/- (4) Rs, 1,560/-

72 ig =afs el g w1 25% ufawa f 2 & 39 1200/~ o7t § dwar 2 af 30% =1 @19 HAH
fore =@ =w =g = fw Fima W s= =R @

(1) 1600/~ =& (2) 2000/- =
3  2080/- ¥w @) 1560/- T3

[Question ID = 2031][Question Description = Q25_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122)
3. 3 [Option ID = 8123)
4. 4 [Option ID = 8124]

21) Which one of the following sources of knowledge {pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti  (2) Anumana

(3) Upamana (4) Unuplabdhi

79 YA e | v fefataa § % fE-w g9 ome atg 6 Rl §1e awg 3 maEa )
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I 27
(1) iy (2) IgaA
(3) wuEA (4) IFaeley

[Question ID = 2032][Question Description = Q26_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126)
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128)

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijha)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A}, (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A}, (B), (C)

I FRITRE o ATTER ST 5 A H T %1 Gl 569 1 8 7

(&)  ToEme v o e S w1/ wEsTar F w5 (39EE)
(B) RO B B (87)

(©)  sifumon i fagh % wv o gfg (Frmm)

D)  eAidvaren w1 (o)

(B) Tifga fam = sgmm o (3eEm)

Hi5 o o faereat € o ot s W 9 Fifsw

1) D), (E). (A). (C). (B)

2 (D), (C). (B), (A), (E)

(3 (D). (B). (E). (A), (©)

@ (D}, (E). (&), (B), (O)
[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8129]
2 [Option ID = 8130

]
. 3 [Optien ID = 8131]
4 [Option ID = 8132]

R

23) Which of the following schools of Classical Indian Philosophy reduce Sabda pramana

(verbal authority) to inference?

(A) Nayaya
(B)  Vaisesikas

(C)  Buddhists
(D) Mimamsa

(E) Carvaka/Lokayata

Choose the correct answer from the options given below :
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\1)  \Djana\u) ooty
(2) (B). (C) and (E) only
(3) (B) and (E) only
4 (A (D) and (E) only

TS YRAHE eI 1 FA | WEE W5g YA W STAH F IO T @ 7

A) ==

(B =

© g

D) i

(E) =i /e

el fau mu foepedi § ¥ wEl I w1 wmE Fif

(1) = (B) 3R (C)
2  F (B). (C) IR (E)
(3) = (B) 3 (E)
4 Fa (), (D) I ()

[Question ID = 2034][Question Description = Q28_GP_20M0V_S1_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

24) Given below are two statements

Statement (l) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence,
Statement (ll) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement (l) and Statement () are true
(2) Both Statement (I} and Statement (ll) are false
(3) Statement (I} is true but Statement (I} is false
(4) Statement (1) is false but Statement (I} is true

f 3 B Ry g

& (D) ; T MR dehome  HAGHR A H @l %9 & Ta g 21

w9 (1) : s T F5 Tel sawdt 2 73 25 5% IR § SIgaW o =iEy "ok aegd: I8
sl 2 2 29 F 1w e 2

IUNF FUT o ST H, A BT T e § ¥ wE) SO % 99 i

1) = (1) AR D) D T 3
@)  F @) SR () 2= 3| &
(3)  wu (D) G 2, afF Fya (1D a19e 2

(4) =9 (1) 319cq 3, A A (1) 9ea 2|

[Question ID = 2035][Question Description = Q29_GP_20M0V_S1_SHAAN]
1.
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[Option ID = 8137]
2. 2

[Option ID = 8138]
3.3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List Il

List | List I

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (1} Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll} Therefore there is fire on the hill

(D) Statement of thesis to be established (I¥) Becuase there is smoke

gefi-I & @rer ghi-11 =1 fram Hifso)
g1 gi-11
T = = GEice]
(&) sfdveron =k gEiitE w9 A gfE @ E g B B g AT B ¥ WU TR
H)
(B) =R T B Al) UwETE W T 2
() fifes fam = sqmwr e AID) sEfeT TRE W & 2
(D) wenfue =5 SHeret frmon = weE @AV) it = gt 2

= o e e d 9 o s W 9 AT

1) (A-@, (B)-aID, (C)-AV). (D)-(IT)
@ @-IV). (B-diDh. (O-1). (D)-AD)
3  @-dIDh, B)-av). (O-(1). (D)-AD
@)  A)-dD), B)-{, (CO)-d1D. D)-IV)

[Question 1D = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :
(1) Faster RAM  (2) Blu-Ray Drive
(3) Solid State Hard Drive (4) LCD Technology

wF 1S A H A T 2 A U B Hise % Wueig 1 Fmie Ben § S o figa 6 g e 2 an
it et iaeia wigel i el AR | BT S ToF | w9 3
THT A % for o Srafies =1 uEim e e 27

(1)  wE= (d=) | 2 w=-tgEa
(3) wite W2 8 g (4) T A F ST

[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8145)
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (0S5) installed on it.
Reasons (R} : Man and Computer cannot communicate directly.
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In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R} is the correct explanation of (A}

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= 2t = fiu v 2 ;o= sifywYs (Assertion A) ¥ ®9 ¥ fofiga %T—ﬁ&@ﬂﬁ%ﬁi O (Reason R)
% =Y ﬁ :

3TTHF (A) ; TG AT TAH Pl | U TR foen e ¥9 ° weuifud & =anau)

T (R) : AT 3 A WY AR 9 e § ®aig A8 R e |

ITUTH FI = ST |, A 90 T fawmen § § TE ST F 99 St

(1) (&) TR (R) A T 2 3R (R), (A) T = =veT B
@) (&) I (R) A ¥ &, AfFA (R), (A) #Fi @& =ame 76 2
3 (A) T B, dfpd (R) %9cd 2|

(4) (A) 3190 2, AfF (R) T 2

[Question ID = 2038][Question Description = Q32_GP_20N0V_S1_SHAAN]
1. 1 [Option ID = 8149]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :

(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

gaU 91 U gud B Gudl & w0 ¥ Fefaigd WiE auaet % 98 %9 i ggaE i)

A) 1500 M Bytes

(B) 5 K Bytes
{C) 1 G Bytes

(D) T Bytes
= fou o ferreat 4 9w s = == s

1 D)A€L (B)
2 @, D ©). B
3 @, ®.0©.0O
@ D), ©).A). B

[Question ID = 2039][Question Description = Q33_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4, 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (1) : Wi-Fi has a shorter range than Bluetooth,
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- Statement (I1) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement (l) and Statement () are true

(2) Both Statement () and Statement (ll) are false

(3) Statement (1} is true but Statement (ll} is false

(4) Statement (1} is false but Statement (I} is true

e % ey | foas sy 3 ang-w terst 3Fl £, i gt e fag e F

o (D) : -7 1 I sopy W w9 B B
o (I) ; S-S % Wieue U sy i o 1 wften 9 4 A TaT A 1 T 2

ITUTH YT * 2w °, T8 B e e # 9 gl ser w999 il

1) e (T) iR @D A T B

(2) = (1) 3 D 2 omwea B

(3) = (D) A 7, I w5y (D) 9 2

(4) =9 () o7 2, A w9 (1D T3 2)

[Question ID = 2040][Question Description = Q34_GP_20NM0V_S51_SHAAN]
. 1 [Option ID = 8157]
2 [Option ID = 8158]
. 3 [Option ID = 8159]
4 [Option 1D = 8160]

e ld B

30) Match List | with List Il :

g=it-1 = =g gefl-11 = faee fifsm)
g1 gt-11
(PR TR ¥ ) (RIS
(A) OCR @ fFFa A1 TEfaiEa gEaEs o T W 5
fere v =i R)
(B) OMR D) sg-feered st § 3% g9 wH & fog
S e 8|
(C) Email (I11) TEw=IieTs FgfhTH
(D) Instant Messaging AV) THFINTF HEGHT
F= oy o e § ¥ OF S w1 o hi
(1) (A)-D, B)-I), (C)-(IV), (D)-(I1I)
(2) (A)-AD), (B)-(D). (C)-(1D). (D)-(IV)
(3) (A)-(0). (B)-(IL), (C)-(11I). (D)-(IV)
(4) (A)-1), (B)-(ID), (C)-AV), (D)-(I1I)
Match List I with List IT;
List I List II
(Computer Terms) (Purpose)
(A) OCR (I)  Used to scan typed or handwritten
documents
(B) OMR (II) Used to mark  multiple-choice
examinaiions

(Cy Email (IIY Asvnchronous Communication
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(D) Instant Messaging (IV) Synchronous Communication
Choose the correct answer from the option given below :
1)  A-dD, B)-A). (C)-IV). (D)-AII)
(2) (A)-aAD, (B)-@). (C)-(ILL), (D)-{IV)
3  @A-O, (B)-dD, (O)-(IID), (D)-(IV)
@ @)@, (B)-dD. (O)-AV). D)-AII)

[Question ID = 2041][Question Description = Q35_GP_20NOV_51_SHAAN]
1.1

[Option ID = 8161]
2. 2

[Option ID = 8162]
3.3

[Option ID = 8163)
4, 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

frafafiga 4 @ Fa-ar ok SS9 1 AR wE g amd 27

(1) U SEAFAES (2) Thurea Ferse
(3) IR SIEMHEIES @) o

[Question ID = 2042][Question Description = Q36_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

frafafiga A 9 =-w = Fiq R 9 w5 w1 T 8 v

(1) a7 s (2) U Ht
(3) e (4) SefaEg

[Question ID = 2043][Question Description = Q37_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172)

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?

(1) Earthquake (2) Volcanic eruption
(3) Epidemic (4) Storm

frfafaa & @ Fiv-=f wpies o9 3T Fedt 3 oK 3w et @ o Taid 8 ¢

1) g (2) et fewie
(3)  wEmMH (4 TP

[Question ID = 2044][Question Description = Q38_GP_20NOV_S51_SHAAN]
1. 1 [Optien ID = 8173]
2. 2 [Optien ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt, of India, stands for

(1) National Mission on Solar-Hydro Energy

(2) Mational Mission on Sustaining Himalayan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy
{4) Mational Mission on Survey of Himalayan Ecosystem
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UG AT, ! UHiereliE = 991 % #9885 NMSHE F=tafga o 9 e gama 27

(1)
(2)
(3)
(4

National Mission on Solar-Hydro Energy
National Mission on Sustaining Himalayvan Ecosystem
National Mission on Sustainable Hydrogen Energy

National Mission on Survey and Himalayan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_51_SHAAN]

1
2
3.
4

35) Which of the following pollutants have adverse implications for human health as well as climate change?

. 1 [Option ID = 8177]
. 2 [Option ID = 8178]
3 [Option ID = 8179]
. 4 [Option ID = 8180

(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B), (C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only

(4) (B) and (C) only

fFrferfas ® o T Tt = dfige T A3 % TR S ey e W 9 2 7

(A)  ATEISA IEATFIES

(B) =R wErY (PMas)

(C) A

D) e

(E)  isgd sfiogs

o fau e fameal # 9 wdl S ==m Hif
(1)  =FHaa (B), (C) 3R (D)

2 FA Q). (B) IR (C)

(3 %@ (B) (D)

(4) = (B) 3R (C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]
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36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE

(3) NCERT ; ; (4) AICTE

7= foren & ded o, wAdT s=mm e 4wl e § o gigmsma w7 feifa 9 & o

fratafas 4 @ fra vdm e /o =t e fear an?

(1)
(3

7 it df 2 wHEtdz
@ S am A (49 v s

[Question ID = 2047][Question Description = Q41_GP_20NOV_51_SHAAN]

1.
2.
3.
4.

37) Match List | with List Il, List | names various organizations while List Il gives their location :
List 1 ;

¥

1 [Option ID = 8185]
2 [Option ID = 8186]
3 [Option ID = 8187]
4 [Option ID = 8188]

;5 Listl



www.prepp.in

- (A) NAAC ; ; (1) Delhi

(B) NIEDA ; ; (Il) Bengaluru
(C) NDRI ; ; (1) Lucknow
(D) CDRI ; ; (IV) Karnal

A1 % wy gfl-10 = frem ifem

&)
®)
()

(D)

5 fou 7u faeredt & @ wd ST W A A

(L
(2)
(3
(4

[Question ID = 2048][Question Description = Q42_GP_20NOV_51_SHAAN]

-1
LERR]
WaE g E T
A gl 3 A
< 3R o

(A)-(1I), (B)~IIL), (C)-(T). (D)-AV)
(A)-D, (B)-@). (C)-AV). (D)-1I)
(A)-A1D, B)-AD). (C)-(D). M)-AV)
(A)-IV). (B)-AID. (O)-(D. D)-D

1. 1 [Option ID = 8189]
2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF, What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning,
(C) Engage multilingual experts to help promotion of all Indian Languages.

prepp
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(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.

Choose the correct answer from the options given below :
(1) (A), (D), (E) only
(2) (A), (B), (E) only
(3) (B), (D}, (E) only
(4) (A}, (C), (D) only

73 foren ity (v § 11)-2020 % @ 3 & v Fit 9O FE T @ 2| 39 FeEm % a2

(&) TRl E emmuE o TeTER 3 e Frw duw s
(B)  Aftrm = gugH 3g WifEh % WH % Geyg # ARl & g 3EEA-U2E g9 U6 W9 gedl |
(©)  woft s wrnet ) wgrEn 3R F wawar 3g apdt Rrivgt wt wnfie w5
D)
Sfersta =1 N @ Y A ST A
(B)  Toen denifiht 7 «itfgs ot weurma auaa % Fafo s
=t o o et 4 O il I e A
(L) =4 (A). D), (B)
2) e (A), (B). (B)
(3)  *a« (B). (D), (E)

P RN

Tawe TReEt, B o oA e & § A A w wEn A 3y sntfEee

S FAN AN T
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[Question ID = 2049][Question Description = Q43_GP_20NM0V_S51_SHAAN]

1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D} DIKSHA

(E) MOOC

Choose the correct answer from the options given below :

(1) (A), (B), (E) only
(2) (A}, (C), (D) only
(3) (B), (C), (D) only
(4} (C), (D}, (E) only

Frefafea ¥ @ F9-9 s-wifarm 99 87

@) =

B) RLLC

(C)  Taaus

Dy <

E) TH

2 fau o fedt § O wE SOx W oA Hi

(1) =« A), (B). (B)
(2) FaE Q). (©). (D)
(3) waa (B). (C). (D)

4  Faa (). (D). (E)

[Question ID = 2050][Question Description = Q44_GP_20MOV_S1_SHAAN]

. 1 [Option ID = 8197]
2 [Option ID = 8198]
. 3 [Option ID = 8199]
. 4 [Dption ID = 8200]

e it B

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-4?

(1) Good health and well being (2) Quality education

(3) Poverty alleviation (4) Industry innovation and infrastructure

TIH U2 % TSE <91 g A9 2015 § "aa o wea-4 § wefug St 3 @ S wea s

T 17
(1) a9 @R R agEw (2) TorETTgER e
(8) TSl SAfEH (4)

[Question ID = 2051][Question Description = Q45_GP_20NOV_S1_SHAAN]

1. 1 [Option ID = 8201]
2. 2 [Option ID = 8202]
3. 3 [Option ID = 8203]
4. 4 [Option ID = 8204]

I ETER TS STaUET
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Topic:- General Paper_Set1_C

1)

Fand tha naccara aarafilllier and anenran tha anracsfiamne fhat Fallaar
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e e T T T p 7 St . - mEnRheNTLEETTAR IR TR mEeT = Fr ot e e e et e B

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating soelal, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost., The World
Bank projects a US 3110 billion declhine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T ] TEGYEF 9 AT $HE 1 3T T 99 W IW 3

FIAT P Fifag- 19 HeMRl §9R W99 1 STaqd 4as @ g 9R fydfta faveag = o & weg
a1 AN 21 fost ad % sifis B § wim o ou% s % WY T AERE ATEHHE F DS TAT
HEIda # %ol TR 3| 19 T g@E B9 A 10 NG @ S 57 el g & AR gff wean B gl w6
T e Sy IB U TE 2| UGy ¥E WEMN) WReA GHe ¥ wE fE B, UE Tk g
amTSE-aF % ft 3| 2@ W UST =t e uwifae 2) o et aenfas oY iR
TSHIR TTE TS IS & 9 omsl OaF 9% TR A T T 3 9 Ug w1 At s afaarfi
(Rerard) 7 3 o St ot w woTeht Fea WaF 9 T 8, WY o 9% fava wre wed % ueEm U we ©
@R wedl gzal ol 3@ w ¥ oaw u Afvew uedE et feem % owE W o g @ Eice
an-aaeh & Aged | fvs o wgr 81 & o e st et ok s an @ 1 o 8 wan e ufifesrfon
wd aEFE 5o v ) ol e fifle gl % ged oft wng-ge @it 98 31 datdE 3w wned @
I 2 15 400 fafemm (40 =ig) wir it i = aedt 21 faza 3% 3 oigam o § R s ad
g7-taur (i) 4 110 Rfema smieh ser F wh snof) gom sl 2 5 500 fafema (50 #03)
AT AT gRenE) SrEEl P R § awd TE g )

The major crisis faced by the world since World War |l is in which area?
(1) Industrial (2) Technological
(3) Communication (4) Health

faeta frzerg =g faza 1 weg o=t ae Prw & o sy 27

1)
(3)

st (2) orEnfihE

o (4) WA

[Question ID = 2052][Question Description = Q46_GP_20N0OV_51_SHAAN]
1 [Option ID = 8205]
2 [Option ID = 8206]
3 [Option ID = 8207]
4 [Option ID = 8208]

1.
2.
3.
4.

2)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence in Asla late last

year. the virus has spread to every continent except Antarctica. We have now reached the
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The

Tragic milestone oI ONe MIUIoN Aeatns, and the NUMmMan Iamily is SUIering Under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating soeial, economic and political effects that will leave deep and

longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost, The World

Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T TEHEF 4 T $89E a1 3T T 99 W IW 3

HRAT I FHifag-19 HEE THR @99 1 Y ARaH W gwhe iR fgdha fwaag & o 6 g
a2 T 31 T ad % sifam &1 5 ofmn § oo 39va & WY TE AERE TR T BISAR U
agrdia 4 % g B 3@ 96 9@:E BT A 10 Wng & Ut 9 T g 8 iR gt weear gl W
T FEEE Sy IE U W@ 2| UGy AE WEWH) WRYA GHe ¥ wE fE P, UE Tk g
amsEm-oiw wwme f 21 W W TaT =t ww a2 5o e aenfas oY ofk
s e W B R e e e e B v and 3| s o 0 aebes st wfi
(Rerard) 7 3 w1 St ot w Tt Fgea WeF @R T 8, WY o 9% fave Tarees wed % ueEm U we ©
@R wedl ggal w1 i 3@ w ¥ oaw u Afvew umdE e feem % owE W o g @ Eise
A=A % Sged # Fous @1 21w oA S srolt e ot s e @ 21 % 8 v B wfifafe
w9 A 50 wHed | sk g difla Tl % gled iR Tg-g9e @il 9 3| AaUdiE s ied W
I9HE 2 56 400 fafemm (40 =) i it i s aEd B fm A R o R B owm e
g7-ta (ifem) d 110 ffemn smieh swer F = snof) gom sl 2 5 500 fafema (50 #Ug)
AT AT gRenE) SrEEl P R d and TE g )

pandemic has left which of the following area unaffected?

(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

wemHl = FreAfaiaa § @ 6 69 W waE A8 Ui 27

(1)
3

gt (2) 3w
6T I 9 4) TR

[Question ID = 2053][Question Description = Q47_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8209]
2. 2 [Option ID = 8210]
3. 3 [Option ID = 8211]
4. 4 [Option ID = 8212]

3)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating soeial, economic and political effects that will leave deep and

longstanding scars. IUNDP 1s the technical lead in the UlN's soclo economic recovery,
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alongside the health response lead by WHO, and the Global Humanitarian Response Plan.,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost, The World

Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T i GEGFIYEE 98 AUl 39 918 T T 9% 6 W 3

FIAT AP Ffag- 19 HEMRI TAR W99 1 STAqE das e g iR Tyt favaag = o & wse
a1 AN 21 fost ad % sifts B § oitmn o oud s % WY T AERE HTHEHE H DS TAT
HEId # %ol IR B o1 T q@E BT U 10 oING @ AT I el g% & R gl wiear B gl w6
T FEEE Sy IE U TEl 2| UGY AE WEWMN WReA GHe ¥ wE AfrE P, U§ Tk g
amTTE-alE % f 2| 2w W TST =t W uwifae 2 o et aenfas oY iR
i T TR A 3 Pk o e TR R e A 3] g A A s nie
(Rerardl) 7 3 w1 St ot w Tt “ea WaF 9 @ 8, WY & 9% fava Tares wed % ueEm U we ©
@ wedl gedl w i 3w W 2 a0 7 Afvesw nrdE wgee FEee % e W 9 @ Sk
au=aae & Aged | fvas o w81 & o @ et efen ok s ven @ 21 o 78 wan o ufifeurfon
% aEFa weh| wde ) ol e ifle gl % gew oft wng-ge @t ue 3| iaddE 3 whed W
g 2 5 400 fafemm (40 =) @ it Teien s vt &) faza 9% 3 sAm o & HRowm e
g7-Ta (ifm) d 110 ffemn smieh swer F = snof) gow st 2 5 s00 fafema (80 #U3)
AT AT gREE) Sl g R J awd TE g )

Which continent is least affected by COVID-197
(1) Asia (2) North America
(3) Australia (4) Antarctica

HH- TS HiTe—19 ¥ W@ FH g g2m 27

(1)

(3)

L

ufirm (2) Ioft e
S ESARE) @)

[Question ID = 2054][Question Description = Q48_GP_20MOV_S1_SHAAN]
1. 1 [Option ID = 8213]
2. 2 [Option ID = 8214]
3. 3 [Option ID = 8215]
4. 4 [Option ID = 8216]

4)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of logs. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UN's soclo economic recovery.
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small

islandnations. heavilv dependent on tourism. have emntv hotels and deserted beachez. The
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International Labour Orgamisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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amTfaw-a1ils @z ot 21 3@ = wEw =afs Tow nwite ) e e ot enfie e
TSI TN USH 91 § R @ g a TR AT G 9T ¢ G g o i il afamfi
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= wudt gggl B i 3@ @ T o 7w AfTaw uedEE ot FEem % owE A off 3 @ Eise
Aok o iged ® s R g 31 ' T ar st Aefen o o e @ 21 3% A2 war i afdeaton
%o T B0 wea ot Fivi g gidte Tl S slesr sk wug-ae @relt 9g 31 erddm am aned
g 2 3 400 fafemm (40 =) @ it TeiE o v &) faza d% J R & R T e
g-t (i) # 110 ffomm smieh swen F wh snof) gom sl 2 B 500 fafemm (50 #0%)
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Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDP  (2Z) UNICEF
(3) UN-GHRP  (4) UNSC

=1 4 @ 5w geom 3 UN it amnfas et afamta () e i1 9903 wem fan 2 7

1)
3

UNDP (2) UNICEF
UN-GHRP (4) UNSC

[Question ID = 2055][Question Description = Q49_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8217]
2. 2 [Option ID = 8218]
3. 3 [Optien ID = 8219]
4. 4 [Option ID = 8220]

3)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating soeial, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the techmical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost, The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?
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(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions

Fifas-19 % snets ° Ffafga 5 8 6 wne/ wfaem % 9z o & a9d w0 gwe gt ¢

(1) 92T 3= (2) @R gf=El weg
(3)  oit=ties uigee (4) Hufter uikeE

[Question 1D = 2056][Question Description = Q50_GP_20NOV_S1_SHAAN]

1
2
3
4

. 1 [Option ID = 8221]
. 2 [Option ID = 8222)
. 3 [Option ID = 8223)
. 4 [Option ID = 8224]
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